Math 3








Name: _________________________

Mod 3, Day 4







Date: _______________ Period: ____

Graphing & Naming Functions 
	1.  Graph each equation and determine the following information.  A sketch of the parent graph might help.  
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	2.  Determine the following information for each graph.  A sketch of the parent graph might help.
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4.  

	Tyrone had one more project he built for his physics class.  This time, he created a catapult that could launch objects in the air.  He launched a 5 pound object that flew in a parabolic path.  It landed 400 feet away and achieved a maximum height of 300 feet.  

	a)  Draw a diagram of the object’s parabolic path.  Label the axes of your diagram.  



	b)  Write an equation that models the situation.  

c)  The object flew right over Tyron’s car which was parked 160 feet away from the catapult.  How high was the object above Tyron’s car?
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